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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-6_0
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P3-6 BriE) | GEBAK(F) | ERE(EH/R) | EREE (/R [ XS R
06:05 273 150.0 2. 583 5| THR06:05 KENFERF (RFI1EREEEE)
06:35 273 150.0 2. 583 5| THR@06:35 KRIENFERF (RA1RREEED)
07:05 273 150.0 2. 583 5| TiHe07:05 REFEF (KREAERSE)
07:55 273 150.0 2.583 5| FHAe07:55 RENFEF (RAMEEEE)
08:35 273 150.0 2.583 5| FHA@08:35 KENFEF (kA{EEEE)
09:05 273 150.0 2.583 5| FHA@09:05 KENFEF (RA{ERNEE)
09:35 273 150.0 2.583 5| FEAe09:35 KEFEFE (CRAMEEE)
10:05 273 150.0 2.583 5| FHA@10:05 KENFEF (CGRAfEEEE)
10:35 273 150.0 2.583 5| FHA@10:35 KENFEF (GRAIERENEE)
11:05 273 150.0 2.583 5| FEAe11:05 KEIEFE CGRAMFESE)
11:35 273 150. 0 2.583 E(  FiHRe11:35 KRHEFEF CGRAERESE)
12:05 273 150.0 2.583 & FiHfe12:05 KHEIFEF (REAERS)
12:35 273 150.0 2. 583 5| FHAe12:35 KEIEFE CGRAMFESE)
13:05 273 150. 0 2.583 E(  FiHRe13:05 KREFEF CGRAERE)
13:35 273 150.0 2.583 | FHAe13:35 KHEF (KAERESE)
14:05 273 150.0 2. 583 5| FEAe14:05 KEIEFE CGRAMFESE)
14:35 273 150.0 2.583 5| FHA@14:35 KENFEF CGRAMEEEE)
15:05 273 150.0 2.583 5| FHRe15:05 KENFEF CGRAEES)
15:35 273 150.0 2. 583 5| FHAe15:35 KEIEFE CGRAMHESE)
16:05 273 150.0 2.583 5| FHEAe16:05 REFEF (RAEES)
16:35 273 150.0 2.583 5| FHA@16:35 KENFEF (CGRAfEEEE)
17:05 273 150.0 2.583 5| FHEA@17:05 KENFEF (CGRAIEREE)
17:35 273 150.0 2.583 5| FHAe17:35 KEIEFE CGRAMFESE)
23t 6279.0 (23)%) 3450.0 JEWHKEC: 2080.0, PH: 6.0

[E;&EC 5253.0 K&, EiNF{KECAR & M%ER
#H[EKECE (1847.0 vs 5253.0) 15




FRV (ml plant-1)

ET (ml/hr/plant)

P3-6_0, Day=74 (2025-06-11)
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P3-6

BfE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS R

06:45 283 150.0 2.583 F  BRi%e06:45 BE1 (GRAERE)
07:15 283 150.0 2.583 = {Rig@07:15 B (RAERSE)
07:45 283 150. 0 2.583 E BRi&e07:45 Bz (GRAERESE)
08:15 283 150.0 2.583 5| {Ri%e08:15 Bz (FAAERSE)
08:45 283 150.0 2.583 = {RRiB008:45 B (RFAEEE)
09:15 283 150. 0 2.583 E BRi&e09:15 Bzl (RAEREE)
09:50 283 150.0 2.583 5| {Ri%@09:50 B3 (FAERSE)
10:25 283 150.0 2.583 =l RRiB010:25 B (REAEESE)
10:55 283 150.0 2.583 = {RRiB010:55 Bz (REAEEE)
11:25 283 150. 0 2.583 =l Rige11:25 Bz (REAEESE)
11:55 283 150.0 2.583 =l {Rige11:55 B3 (RAERSE)
12:25 283 150.0 2.583 Sl {Rige12:25 B (REAERSE)
12:55 283 150. 0 2.583 E| {Rige12:55 Bzh (RE{ERSE)
13:25 283 150.0 2.583 E| {Rige13:25 Bzh (RE{EREE)
13:55 283 150.0 2.583 S| {Ri%@13:55 B3 (RAERSE)
14:25 283 150. 0 2.583 E BRige14:25 Bz (GRAERESE)
14:55 283 150.0 2.583 F BRige14:55 Bz CGRAERE)
15:25 283 150.0 2.583 | 1RiRe15:25 B (REERSE)
15:55 283 150. 0 2.583 E BRi&e15:55 Bz (GRAERERE)
16:25 283 150.0 2.583 S| {Ri%e16:25 Bz (GRAERSE)
16:55 283 150.0 2.583 = RRiB016:55 B (RFAKESE)
17:25 283 150. 0 2.583 E BRige17:25 Bz (GRAERESE)
21t 6226.0 (22)%) 3300. 0 3203 %EC: 2080.0, PH: 6.0

large discrepency for begining water status (489:123.0), set to 489 ml.
F[EIKECE (1887.0 vs 3513.0)53 5
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P3-6

BfiE) | GEBATK (D) | ERE (EA/K) | ERERE (B/R) | XS R

05:30 278 150.0 2.583 FA| 1B2i%@05:30 B3zh (KAB{EREE)
06:05 278 150.0 2.583 FA| {Ri%@06:05 Bz (kAMEE:E)
06:40 278 150.0 2.583 FH| 1BRi&@06:40 B3zh (RAEREEE)
08:15 278 150.0 2.583 |Z=| {Ri&e08:15 Bzl (KREAEZEHE)
09:25 278 150.0 2.583 |Z=| {Ri&e09:25 Bz (KREEZEHE)
10:15 278 150.0 2.583 |Z=| {Ri%e10:15 Bz (REEZEBE)
10:50 278 150.0 2.583 |Z=| {Ri%e10:50 Bz (REAEZEHE)
11:20 278 150. 0 2.583 |Z=| Bi&e11:20 B (REEZERE)
12:00 278 150.0 2.583 (£=| {Rige12:00 B3 (RAEDSE)
12:35 278 150. 0 2.583 | =| {Ri&e12:35 B (REEZEBE)
13:20 278 150.0 2.583 [/hiE| {Ri&e13:20 Bz (REAERSE)
13:50 278 150.0 2.583 |/Mil| {Ri&e13:50 Bz (REEHSE)
14:20 278 150. 0 2.583 FA| 1BRi%@14:20 B3h (kAEREE)
14:50 278 150.0 2.583 FA| 1BRi%@14:50 B3h (RABIERSE)
15:20 278 150.0 2.583 (Z=| {Ri%@15:20 Bz (RAEHSE)
16:00 278 150.0 2.583 |Z=| 1BRi&016:00 Bzh (RAEEE)
16:35 278 150. 0 2.583 |Z=| {Ri&e16:35 Bz (REEZEHE)
17:10 278 150. 0 2.583 |Z=| {Ri&e17:10 Bz GGREEZERSE)
24t]5004.0 (18)%) 2700. 0 32 KEC: 2080.0, PH: 6.0

large discrepency for begining water status (353:156.0), set to 353 ml.
FEIKRECE (1897.0 vs 3593.0)53 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=72 (2025-06-09)

150 Fo—————F——————F——————F-—————F——————F-—————F-—————F——————F——————F——————f——————f-————]
VI, V4RV, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET [ 2000
2600 443
100 19691983
1700 650 | 2000
50 7 L 1000
20 Warning: lcol [FVI',| "FVO’'] missing 60
0 -0
200 3 K 30
150 - 28
-
100 - 26 =
50 - 24
1.0 22
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=6.0 t
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 N - 4000
Bylnit :@D74 01:57: ET=2097 Fg=2550.0 Ro=475.0 t
400 - - 3000
- 2000
200 A
- 1000
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 4000
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1 1 - 3000
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s EZZZ 27 W | W | W | W (2212212232152 122100 B 2212213232122 1221521 % | ®
0.6 -
0.4 1
0.2 A
0.0
1500 { — 4
| _obs
PPFD_obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=375, FV0=0 m=420, FV0=0 m=470, FV0=0
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T T T T T T T T T T T T T
400 600 800 1000 375 380 385 420 425 430 470 475 480
m=585,m FV0=0 m=655,m FV0=0 m=695,m FV0=0 m=760,m FV0=0
27.75 4
—— ME —e— ME —o— ME 27.5 1 00009
.50 - 27 6 -
27.50 '
.25 -
27. 25 27.4 - 27.0 -
.00 -
27.00 27. 2 A 26.5 -
.75 -
26. 75
6.75 27.0 -
.50 - 26.0 -
26. 50 - ME
26.8 -
. 25 - T T T T T T T T T T T T T T
585 590 595 655 660 665 695 700 705 762.5 765.0 767.5 770.0 772.5
m=835,m FV0=0 m=875,m FV0=0 m=920,m FV0=0 m=1000m FVO=0
.25 - 27.4 - 27 5
27.4 -
.00 - 27.2 -
75 270 27.2 - 27.0 -
.50 + 26. 8 27.0 -
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P3-6

BfE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS R

06:40 278 150.0 2.583 E BRi%e06:40 BE1 (GRAERE)
07:10 278 150.0 2.583 = {Rig@07:10 B3 (RAERSE)
07:40 278 150. 0 2.583 E BRi&e07:40 Bzl (GRAERESE)
08:10 278 150.0 2.583 5| {Ri%e08:10 Bz (FAAERSE)
08:40 278 150.0 2.583 | 1Ri%e08:40 B (RFfRREEE)
09:10 278 150. 0 2.583 E BRi&e09:10 Bzl (RAEREE)
09:40 278 150.0 2.583 5| {Ri%@09:40 Bz (FRAMERSE)
10:10 278 150.0 2.583 =l RRiB010:10 Bz (RFAEEE)
10:40 278 150.0 2.583 =l RRiB010:40 Bz (REAEEE)
11:10 278 150. 0 2.583 =l Rig011:10 B3 (GRAEESE)
11:40 278 150.0 2.583 =l {Rige11:40 B3 (RAERSE)
12:10 278 150.0 2.583 Sl Rige12:10 B3 (RAERSE)
12:40 278 150. 0 2.583 E| {Rig012:40 B3h (GRE{ERSE)
13:10 278 150.0 2.583 E BRige13:10 Bz CGRAEREESE)
13:40 278 150.0 2.583 S| {Rig013:40 B3 (RAERSE)
14:10 278 150. 0 2.583 El BRige14:10 Bz CGRAERESE)
14:40 278 150.0 2.583 F BRige14:40 Bz CGRAERSE)
15:10 278 150.0 2.583 =l 1Rige15:10 B3 (GRAERSE)
15:40 278 150. 0 2.583 E BRige15:40 Bz (GRAERESE)
16:10 278 150.0 2.583 S {Ri%e16:10 Bz (GRAMERSE)
16:40 278 150.0 2.583 =l RRiB016:40 Bz (RFAEEE)
17:10 278 150. 0 2.583 El BRige17:10 Bz GGRAERESE)
21t 6116.0 (22)%) 3300. 0 3203 KEC: 2080.0, PH: 5.9

large discrepency for begining water status (439:141.0), set to 439 ml.
[E]/&EC 5260.0 K&, EiUAKECHAIMIAER
BEEIRECE (1927.0 vs 5260.0) i 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=71 (2025-06-08)
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200 3
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VI, V&RV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 30433249

2600 55
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176 Warning: lcol ['FVI',|"FVO'] missing 20

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.9

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-6 BriE) | GEBAK () | ERE(EH/R) | EREE (/R [ XS R

06:35 273 150.0 2.583 5| {Ri%@06:35 B3 (FRFAERSE)
07:05 273 150.0 2.583 = {RRiB@07:05 B (RFAKEEE)
07:35 273 150.0 2.583 = {RRiB007:35 Bz (RAEEE)
08:05 273 150. 0 2.583 F|  {Ri%008:05 BHah (RF{EESE

08:35 273 150.0 2.583 F  {BRi%e08:35 B (RAERSE)
09:05 273 150.0 2.583 S| {Ri%@09:05 Bz (RAERSE)
09:35 273 150. 0 2.583 E  BRi%@09:35 BE1 (RAERRE)
10:05 273 150.0 2.583 F[ BRi%e10:05 Bz (GRAERESE)
10:35 273 150.0 2.583 =l {Ri%@10:35 B3 (RAERSE)
11:05 273 150. 0 2.583 E BRige11:05 Bz (GRAERESE)
11:35 273 150. 0 2.583 S {Ri%e11:35 Bz (GRAERSE)
12:05 273 150.0 2.583 =l {Rige12:05 B3 (REAERSE)
12:35 273 150. 0 2.583 E BRige12:35 Bz (GRAERESE)
13:05 273 150.0 2.583 5| {Ri%e13:05 B3 (RAERSE)
13:35 273 150.0 2.583 5| {Rike13:35 Bz (REAERS)
14:05 273 150. 0 2.583 E BRige14:05 Bz (GRAERESE)
14:35 273 150.0 2.583 5| {Ri%e14:35 B3 (RAERSE)
15:05 273 150.0 2.583 =l RRiB@15:05 B (REAEESE)
15:35 273 150.0 2.583 = RRiBe15:35 B (REAKEE)
16:05 273 150. 0 2.583 El BRi&e16:05 Bzl (GRAEREE)
16:35 273 150.0 2.583 F[ BRige16:35 Bz (GRAERSE)
17:05 273 150.0 2.583 S| {Rige17:05 B3 (REAERSE)
17:35 273 150. 0 2.583 E BRige17:35 Bz CGRAERESE)
2it] 6279.0 (23)%) 3450.0 JEWHKEC: 2080.0, PH: 5.8

large discrepency for begining water status (351:144.0), set to 351 ml.
[ /&EC 6912.0 K&, EIUAKECAAIMIAER
BE[EIRECE (1877.0 vs 6912.0) i 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=70 (2025-06-07)

e e e e s e ey S Ep———— E———— e ——————— 4000
VI, V&%RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 299,325
854 L 3000
100 + 2500 55
2
000 - 2000
50
- 1000
20 Warning: lcol [FVI',| "FVO’'] missing 176
0 + -0
200 | ¥ 30
150 - - 28
-
100 A L 26 =
50 - 24
1.0 22
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.8 ¢
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 N
Bylnit :@D74 01:57: ET=2793 Fg=3450.0 Ro=617.0 t
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